REHR A

O5STFEFMIE

% T = I HECOD)
BIKFE 1 H 53,900
EPE@EERES - SFE 17 RS 1 4 58,209
KPS @EERES - mfE 17 IR S 1 4 58,209
BN 2 eI 1 = 120,000
2U A EI R RS ~ 2 L AVmAR AR 1 = 199,104
A AR 25 1 = 319,829
HEAREREE 1 =4 53,800
HHE T 1 = 74,550
KM E Bl Rt 1 = 174,000
VR S e AR (T ) 2 1 = 93,600
Hig Rtk 1 & 86,500
T i P W1 (58 1 &4H 51,000
HHE &M oS 1 = 88,200
SR P LT A A 1 &4 258,642
Sy =S R 1 ez 55,000
RESEER 1 = 58,000
B4R ER 1 = 160,000
R i 2 P e B R B 1 = 320,000
EE RS 5 -7 PH &1 1 = 50,200
HIIA SRS E S 1 = 82,600
&S 1 = 80,000
EmENE R 1 =4 449,000
B A BT B F 1 =4 125,000
B35 1% 1 it 700,000
72 e [ 1 = 150,000
# RS 1 41 58,000
BEMERS 1 = 70,000
PUA SRR & E 1 &4 140,000
22 SRR EE R 1 = 200,000
AR A & A ke e 5 1 = 140,000
2 IREE B R 24t 1 = 570,000
AL ERSRIEHAR 7 DVD BI/E 2478 = 212,000
LA A=A R AR Ird A TR 1 = 378,000
FERE R E 8 1 = 480,000



SRERGREE JTHIE & 1 4 1,150,000
i NERS ~ BUREs($7,569) 1 = 71,073
HZEREh R A A 1 =4 238,000
fl | BETER K5 2R 1 = 450,000
EARIEL 1 B 99,500
TE ) 4H S o P o 1 = 429,000
R ECHFE 1 = 380,000
HETE R RS 1 = 83,333
TR RS 1 = 83,333
HEER RS 1 = 83,334
AT AHR 1 u 65,000
S AER 1 =z 57,036
NETERAH 1 = 85,680
i 27 B /KSR 24 T AR 1 T 248,495
1U 5 A {E] Ak s 1 = 107,676
HEG=EYIE R 1 &4H 780,000
A= eI 1 Z 92,000
pH EHTET 1 = 85,000
Vet 1 ezl 90,000
B35 [ 1 i 1,095,000
SRE NG B E E B B KE 1 4H 130,000
fEllk 25 1 = 163,113
Fom ik 1 = 98,000
B R AR 4H 1 4 110,000
R Bt 1 = 120,000
PNt Can i AN R 1 = 619,000
BRI EE

KHE(EF 25%) 1 s 100,000
B (ZEH 15 5%) 1 s 100,000
I ERE) —nE 1 TGS 80,000
—TE VYRR G U ML A A M 1 (G 80,000
YRS E B R SR R 1 F 180,000
B R E AL R R 1 TGS 200,000
% IRe el B ERAE L B 1 TGS 204,000
(= 3 5%) 1 TGS 1,000,000
HECEEZT 3 9%) 1 TGs 100,000
BB EE AT RS R 1 F 70,000
e m Ui EE H R EEER 1 F 90,000
HEH e R ARG R 1 TGS 90,000
EENHEATFEEERE 1 F 280,000
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